4x+ 8

@ (2x—|—4)+%

@ (~4x+8) = (-4)=-x-2

®

2x -3

(6x-9)

— ™

@ (9x+3)+3=3x+9

® (120-9)x 5 =4x -3



@ 3x<1



3. HI<HI|>A FSAS BFE IA2H?
H7

=71
QD 3x+2=2x+3 © 2(x+3)=6+2x
® 2x+3x+4=>5x+4 @ 3(x-1)=3x-1
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=-x

@ x*+1

@ 3x+6-3x

@ x+x2+3=x2

@ 2x-1=3(x-1)—x

B x+x2+1=x



5. xe+hE A EE ARslel depE?



6.

X~
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bE

U=A718 +

=
=X
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@ 6x-9x=-3x

@ x-5+4x+8=5x+3

® (9x+7)-9=9x-2

@ (1+x)+32-x)=2x+7

1 7
® S(Bx—4) - (5x-9) = —sx+7
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® x+(x+2)=236 @ x+2x=36

® x+(x+1)=136 @ (x-2)+x=36

B x%X2x = 36

T5}7]



11.

FOE=9009, 5= 7009 7HA 1 A=

s 1 E
A Y £ Fe Eo| £50] W o] 2u7h =gt}
ojmf, BF o /] e x dolEt T w, FotE Aom &2 A2?

@ 900 = 2(700 - x) @ 900 — x = 1400

® 900x = 1400x @ 900 — 2x = 700 — x

® 900 — x = 2(700 — x)
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@ S =24%nh

o s — 2arn
® S =2an(a+h)

a+h

@ S =2a(a+ h*)n
® S = 2an(a® + h)
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® ax =3y O]Qx:%yo]u}.
oY o gr=3y0

® x=-2y°lHx+1=-2(y+1) o}
@ x =2y o|H 4x = 2x + 4y o]t}

2
® 5x-3=5y-2 0@ x- 2 =y 2 oIk



15. 2x-3=3(x-a) 9 7t x =1 < ©, 6a ] G F5teiet.
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